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acuum pressure, HWU you iletennil&e

t and relative density,
lain gauge, absnluﬁ absolute pressure
m the gauge pressu (06 Marks)

d out the differential reading ‘h’ of %rtcd U-tube meter containing oil of

pecific gravity The manometric liquidywhen conne ss pipes ‘A’ and ‘B’ is
own in Fi Convey liqui Specific El‘a"'t.‘:’ and 1.0 (water) which e
1 anometric liqui s ‘A’ and ‘B’ are Iocate:d at the same level and

@ sl.}ma the pressures at ‘A’ and (‘i;i equal. :
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Q ¢ Fig.Q2(c) (08 Marks)
: SS Module-2
fine the following ntion their SI units:
Total Pressure  (ii)Centre of pressure (iii) Total acceleration (06 Marks)
isosceles triangular plate of base 4m and altitude 4m is immersed vertically in fluid with
spamﬁc gra ‘8. .'[11;-. base of the triangle is touching the top of the surface fluid
ontally st of its portion is within the fluid. Determine the total pressure and centre
ssure ofthe plate from the top liquid level. (08 Marks)

QIt notes on: (i) Lagrangian method (i) Eulerian method (iii) Flow net (06 Marks)
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stinguish between:
- Steady flow and y flow

(ii) Rotational flo rrotational flow (04 Marks)
. If ¢ = 3xy, find components of veloci af{l, 3) and (3, 3). Determine the discharge =~
passing betwee amlines passing throu e points. (08 Marks)
=
Module-3
a. State ve Euler’s equation of‘faotion and derive Bernoulli’s energy equation from it.
Menti assumptions. ‘%?r (10 Marks)
b. For the horizontal venturimeter of 150 mm x 75 mm, ine the reading of the mercury
manometer, if the pipe carries 40 LPS of water. Giﬂ = 0.97. Sp.Gr4mercury = 13.6.
(10 Marks)

>

OR - 4
a. 300 LPS of water is flowing in a pipe h %i&meter of 3 m. If the pipe is bent by

120°, find the tude and direction of the Tesultant forc the bend. The pressure of the
water flowing.is 400 kN/m”. Take specifig weight of water = 9.81 kN/m”, (08 Marks)
b. With a neat sketch, describe the constriiction and working 6 a pitot tube. (06 Marks)

c. An orifice nieter consists of 400 mm diameter if%& 300 mm diameter pipe having a
coeffici f discharge of 0 ﬁ%}ﬁ’e pipe dcliveréarﬁi of relative density 0.9. The pressure
diffe on the two sideﬁ; orifice plate me‘gSurcd by mercury differential manometer
is 'mj:m. Find the rate o charge in litres second. (06 Marks)

& R Modi't?éed
7 @™=Distinguish between,

the following: P
(i) Notch and weir’
(i) Mouth , and orifice Q
(iii) Bma% d weir and shﬁ%&steﬂ weir

(iv) Triangular notch and Cipalletti notch (08 Marks)
b. Explain the classification Qj}tchcs and Weirs, (06 Marks)
¢. A discharge of 0.08 mi/sec "vas measured over a 60° angled notch. While measuring the

head over notch an error of 2 mm was made. Determine the percentage error in discharge if
the coefficient ci&hﬁrge for the notch is 0.6. (06 Marks)

OR
: Oi! flows through a 25 mm diameter orifice under a head of 5.5 m at a rate of 3 LPS. The jet
- strikes a wall"1.5 m away and 120 mm vertically below the centerline of the contracted jet.
Calcul coefficients of velocity, contraction and discharge. (06 Marks)
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r ims a discharge nf .

n to a size of:ﬁmm If the pressure just u
i :‘m calculate the ‘just after the expansion. Ass
Given rw=-981 KN/m’.

Slowing terms with a negt sketch:
1 series 3 (ii) Total line

i er Hammer in ptpes (iv) Hyd ient line

‘The veloclty of water in a, 60 cm diamete 1.5 cm R cast iron p-.
of a valve. What

— 1.04 x 10" Pa) is chariged from 3 m/sec m n 0.8 sec by ¢
will be the correspondi sure rise if give lk modulus o stlc:ty of water is
& (06 Marks)

2.11 x 10° N/m>. (,3
ey 8
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